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(a) Write an expression in sigma notation as shown for suitable terms ni, 7

Ny and a;, for each of these finite and infinite summations. Z a;
S1=1+16+81+4256+..+m* S;=1-3+5—..+(2n+1) i=n
S3=142+4+..+2"+... Sa=1-1+1+..+x151=+..

(b) Use the method of telescopic sums to evaluate these finite sums, using the indi-
cated anti-difference sequences:

S1=1+3+5+7+..+(2n+1)+..+2001  using {n?}

52=323+334+345+...+3(n+1)(n+2)+...+ 30906 using {n(n + 1)(n +2)}
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(c) Which of the following sequences are null? Explain your answer.
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